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15 minutes and get the correct booklet.

While answering the question from the Question Booklet, for
each question choose the correct/most appropriate option
out of four options given, as answer and darken the circle
provided against that option in the OMR Answer-Sheet,
bearing the same serial number of the question. Darken the
circle only with Black or Blue ball point pen. ’

Darken the circle of correct answer properly otherwise answers
will not be evaluated. The candidate will be fully responsible
for it.

There are 150 objective type questions in this Question
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Part - 1 - : T - 1

GENERAL MATHEMATICS | ot
1 1 1 1 1 1 1 1
— 4 == =5 — - —=12 . — + — =5 —=—=12
1. If o 7y 3% 2y where 1. 4 x| 7y % 2y aun
x#0, y#0 then the values of x and y are: x#0, y20 &, M x Al y o T B
1
(a) x=<, y=28 (A) x==,y=28
6
(B) x=6Y= 52 (B) x=6 Y=g
C X = .]; = i. C X = }_ =] _1_.
© = Y=o ©) 6" 7" 28
(D) None of these (D) TH I HIS &
2.  What percentage of 7.2 kg is 18 ? 2. 187, 7.2 fercim w1 fhem wfawa 8?2
P & & gms
(A) 25% ' (A) 25%
(B) 0.25% ~ (B) 0.25%
(C) 2.5% (C) 2.5%
(D) None of the above (D) SR Q& T

3. The least number of complete years in 3. &H q w0 e gd ool # w99 20%

which a sum of money put out at 20% Thfg S i &L ATHE aafyes BT
compound interest will be more than

doubled is :

(A) 4 (A) 4

®) 5 | B) 5

© 6 © 6

(D) None of the above (D) Sl B | HIE Tl
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A From the following find the smallest

number which is added to 703476 the
obtained number becomes a multiple
of 12

= F & - 97 BE-9-91 den ¥
S 703476 ¥ Sgt W ytw Wemw 12 @
UST & ?

(A) 0
(B) 3
€ 4
(D) 12

Find the smallest fraction aniong the

8 4 6 10
following B’ 7 11 and 17
A 2

4
(B =

6
© 17
10
DO 17

IfX 64 amounts to ¥ 83.20 in 2 years, what
will ¥ 86 amount to in 4 years at the same

rate percent per annum, when interest is

calculated as simple interest ?
(A) 127.40 |

(B) 137.60

(C) 114.80

(D) None of the above

(A) o
® 3
© 4
(D) 12

8 4 6 10 . |
ﬁ,v—,——awﬁﬁwmfﬂ?aﬁ'—r

7' 11
€72

o

(A)

(B)

©

Hlon N

10

D) 17

i 2 a1 | T 64 1 TAgyA T 83.20 B A
Farsd T 86 Al 4 99 H yfgead =i e ==
& gEF X fagye fea | ?

(A) 127.40
(B) 137.60
(C) 114.80
(D) e ¥ A FrE T
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7. In a bag, there are coins of 25 paise, 7. forght &1 H 25 99, 10 99 ofR 5 98 & ok

10 paise and 5 paise in the ratio of 1:2:335313‘11?{?&%1 g I 7 FA 30
1:2:3. If there are ¥ 30 in all, how many ﬁ(?ﬁSﬂ'@?ﬁh‘ﬂﬁﬁ!ﬁﬁﬁ?
5 paise coins are thete?
(A) 150 (A) 150
(B) 50 i (B) 50
(C) 100 (C) 100
(D) None of the above (D) SRR B g TE

8.  The sum of the acute angles of an obtuse 8. el arferm ot e o S =0 EaLifent

triangle is 70° and their difference is 10°. A 70° & it IRt 3= 10° © <t Broge &
The largest angle is : Yo ST 101 B

(A) 120° (A) 120°

(B) 105° (B) 105°

(©) 110° (©) 110°,

(D) 100° (D) 100°

9.  If an equilateral triangle of area X and a 9. ufg freht guemg e formest &% X §

square of area Y have the same perimeter SR T ot forerT AR Y , S b TR
then : A T @ :

(A) XisequaltoY (A) X, Y% TR

(B) X is greater than Y (B) X, Y¥FSI®

(C) Xis less than'Y (C) X, Y¥B@AR

(D) None of the above (D) SWE H | H1E e

SPACE FOR ROUGH WORK / T% & & fetdl s
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10.

11.

12.

In a class of 35 students there are 25 boys ~ 10.

and remaining are girls. If the average
we1ght of glrls is 20 kg and the average

avege Welght (1n k) ofatlass 7 N
(A) 24

(B) 23.5

(€ 25

(D) 245

Ifx+y=7, 4x —3y =7, then the values of 11.

x and y are :

(A) x=3,y=4
(B) x=-3,y=10
C) x=4,y=3

(D) x=-4,y=11

The length of a rope by which a cow must 12.

be tethered in order that it may be able to
graze an area of 9856 sq. meters, will be :

(A) 86 meter
(B) 56 meter
(C) 29 meter

(D) None of the above

Tk e H 35 faremeff § fomw @ 25 orge o
I wFAl §1 ufe wrefre w1 it aw
20 T, amagaﬁmaﬁwamwﬁm

(B) 23.5
C) 25

(D) 245

'qﬁ’x+y=7,4x~3y=7,?ﬁx?{myév'm;¥
= :

(A) x=3,y=4

(B) x=-3,y=

(C) x=4,y=3

(D) x=—4, y=11

34 ! 1 e, Ed T e g @ aigd
R 9856 =1l Hiet o Sher H uu e, gl

(A) 86 T
(B) 56 HiX
(C) 29 xR
(D) ST A 9 i

SPACE FOR ROUGH WORK / T% @t & ferdt wrg
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13. A man bought toffees at 3 for a rupee.  13. T i T T H 3 W TS 3 T

How many for a rupee must be sell to gain T H frceht 2fod = el formd 50%
50% ? I ?
- &z .-
(B) 3 (B 3
€ 4 ) 4
(D) None of the above (D) SWe & & HE T

14. If the average of 7 numbers is 81 and the  14. Ife 7 wensl w1 i 81 au 9 weARll &

average of 9 numbers is 49, then what afrea 49 %, A 16 TEsh @ ofwa fa
will be the average of 16 numbers ? qm?

(A) 63 (A) 63

(B) 49 | (B) ' 49

€ 81 € 81

(D) 36 (D) 36

15. After getting two successive discounts, a 15. T MR gL X ¥ e T W Toreent

shirt with a marked price of I 150 is 1 150 o, T 105 7 Suerey ¥ ARk g
available at ¥ 105. If the second discount /e 12.5% ® @ el ge B

is 12.5%, the first discount will be :

(A) 25% (A) 25%

(B) 20% (B) 20%

(C) 45% (C) 45%

(D) None of the above (D) Iudad B 9 HE TR

SPACE FOR ROUGH WORK / T @ & ford sg
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16. (11)%5x(33)3 x (66)15 + 215 x 345 = (33) ?

(A) 8

(B) 9

() 10

17.  How many spherical bullets can be made
out of a lead cylinder 28 cm high and with
base radius 6 cm, each bullet being
1.5 cm in diameter ?

(A) 1700
(B) 1792
(© 1590

(D) None of the above

18. If 522—13xy+6y2=0 then x : y is :
(A) (5:3)or(1:2)
(B) (2:5)0r (2:3)
(€) (5:3)only

(D) (3:5) or(2:1)

16. (11)%5x (33)3x (66)15+ 215 x 345 = (33) ?

(A) 8

17.

18.

(B) 9
C) 10

(D) 11

TF O€ 9o S 28 Tt S ¥ oik 9%
AR i o 6 It € 9 faat Momer
el a1 ST Tt § fomer = 1.5 At
q?

(A) 1700
(B) 1792
(C) 1590

(D) I # | HE T

e 522 13xy + 62 =0 M x : y AW :
(A) (6:3)™(1:2)

(B) (2:5)a1(2:3)

(C) *&aa (5:3)

(D) @:5=AM(2:1)

SPACE FOR ROUGH WORK / 1% &1& & @ sie
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cone are in the ratio of 3 : 4 and their
heights are in the ratio of 2 : 3. Then the

ratio of their volumes is :
(A 2:3
(B) 4:9
(C) 9:8

(D) None of the above

19. Find the digit in ones place in the number 19. (2017)2018 T goRTg 1 3 T 2
(2017)2018.
(A) 2 (A) 2
(B) 4 (B) 4
© 7 © 7
(D) 9 (D) 9

20. 33 _:1);% of a-man’s daily output is equal to 20, ufe fret ww =fsm & e IeUeA W
50% of a second man’s daily output. 33 %%,@ =fer & SR IcaeA T 50%
If the second man turns out 1500 screws 1 afE gEu SR 1500 T 1 SR Th
daily, then the first man’s output in terms feq ® wTa § @ ugen safw fhad W
of making screws is : AR ?
(A) 1000 (A) 1000
(B) 2000 (B) 2000
(C) 2250 (©) 2250
(D) 500 (D) 500

21. The radii of the bases of a cylinder and a 21. & Yo 3 % F MR HI e

1 ST 3 : 4 3 TR oA HT ST
2.3 A IF ARG 1 ST BT

(A) 2:3
(B) 4:9
(C) 9:8
(D) ST H & HE T
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22.

23.

24,

If each edge of a cube is increased by 50%,
then percentage increase in surface area :

(A) 150%

(B) 125%
©) 100%

(D) None of the above

In the number 7523864, if the difference
of the place values of 2 and 8 is divided
by 14 the quotient so obtained would be :

(A) A Natural number
(B) An Integer

(C) A Real number but not a Natural
number

(D) A Rational number but not an
integer

If ACand BD intersect at O such that
AO=CO and BO=DO, then :

(A) BCJ|AD and BC=AD

(B) BC and AD intersect each other

(C) AB||AD

(D) Nothing can be said about BC and
AD

22.

23.

24.

ToRgil = Y T PR AT 50% S S A
ST gyt Qe | wiv g anft

(A) 150%

(B) 125%
(C) 100%
(D) SulEa H q S 75

7523864 W 2 A1 8 % WMIT THI ¥ o
w1 4C 14 ¥ 9 e Sm, @ ww e
B ?

(A) Ypfas T
(B) quiie He
(C) TRl WEA Ut UrpT e TE

(D) ufa Hem v qurfer e e

af¢ AC ¥R BD T% T % O W H12d §
T AO=CO IR BO=DO A 7 :

(A) BCJJAD 3R BC=AD |
(B) BC 3R AD & Tol %\ =req §
(C) ABJlAD

(D) BCRAD & R & 3 ft war 7
ST Hahdl

SPACE FOR ROUGH WORK / 1% &1 & f& smig
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14— 2 1+—2
24 —— 24—
_____T+J_4.___—_—___—_4+l_l__—_____
5
21 21
1— 1=
(A 137 (A) 37
37 37
1— 1 =
® ‘5 B 7
1 ' 1
8— 8 —
© °3 © °1
1 1
14— 14 ~
(D) 147 (D) **3
26. If a=1999.1 and b=0.9, then 26. A a=1999.1 @& b=0.9, T
a2 +b% +2ab _ a? +b* +2ab _
at+b a+b
(A) 2000 (A) 2000
(B) 4000 (B) 4000
© 2 , C) 2
(D) None of these (D) T | BB e

SPACE FOR ROUGH WORK / T @tdl & {1l s
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27.

What is the smallest number which is
divided by 14, 16 and 20 respectively
gives remainder as 9, 11 and 15 ?

28.

(A) 560

(B) 555

(C) 565

(D) None of these

What would be the common factorisation
of {(237)123 + (113)123} and
{(237)113 +(113)113} 2

(A) 350

(B) 124

(C) 237

(D) 113

27. % BA-U-BR &N I G ¥ {5 O

28,

14, 16 T 20 ¥ 9 2 W HYFSA HHAI:
9,11 a1 15 99 ?

(A) 560

(B) 555

(C) 565

(D) T 9§+ T

{(237)123 + (113)123} qen
{(237)113 4 (113) 113} =1 IvEfTe TUFEUS
T EAM ?

(A) 350

(B) 124

(C) 237

(D) 113

SPACE FOR ROUGH WORK / 1% &1 & o9 wiig
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e et ) et S e A S T

3
29. Aroomis 2 times long asitisbroad. The  29.
cost of carpeting the room at ¥ 5 per H B Z 5 ufq ol Hier § SR fosm =i
T L '10 ber square ot BT 2008 4 SV igel0 7
¥ 1720. If a door and 2 windows occupy it R Y TR i n 1720
8 sq.meter, the dimension of the room will g T e R 4 fasfwar 8 i} iR
be : e o € i AL R ST B
(A) length = 9m (A) T = 9 HieX
height = breadth = 6m AR = ?ﬁ‘s'lé = 6 HIX
(B) length = 8m (B) THEE = 8 HIX
height = breadth = 12 m o = %R = 12 Hiet
(C) length = height = 10 m (C) @E = =% = 10 HiR
breadth = 5m ﬂﬁ'g.l'sc=5'5ﬂ2'{ '
(D) none of the above (D) IR B W DR T8l
30. The LCM of the 1.2 and 1.02 is : 30, 1.2 T 1.02 %1 <IgxH FETEd fhal © 2
(A) 1.02 (A) 1.02
(B) 1.2 (B) 1.2
C) 2.04 (©) 2.04
(D) 20.4 (D) 20.4

SPACE FOR ROUGH WORK / T% @& & fer&t sg
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32.

33.

GENERAL KNOWLEDGE

20 ohm are connected in series
combination and parallel combination,
respectively, resultant resistance are :

(A) 45 ohm, 5 ohm
(B) 5 ohm, 45 ohm
(C) 47 ohm, 5 ohm
(D) 5 ohm, 47 ohm

Which of the following folk-dance is
performed by the ‘Maria’ tribes of this
state during their ‘Jatra’ festival ?

(A) Gaur
(B) Karma
(C) Kaksar
(D) Parab

What will be sequence of indicators of
Social development ?

(a) Infant mortality rate

(b) Literacy rate

(¢) Pucca House

(d) Compulsory Vaccination
(4) (@), (b), (9), (@)

(B) (@) (), (), (9)

(©  (®) @, (@), ()

(D) (0) (), (a), ()

A A

r3 T !

ao-,qa‘mﬁf?w
TN ®, it wfadiey s R

(A) 45 &, 5 3im
(B) 5 3, 45 sim
(C) 47 &im, 5 sim
(D) 537, 47 31M

sﬁwﬁmﬁmmmﬁlmv@h‘wﬁl’qﬁ
o SR Frrforfian # & sl dlres-Te e
S ?

(A) TR

(B) T

(C) SHHER

(D) w=

HrIfSTeh fererTer o Faeni o1 3T 31 BN 2

(2) TRy T
(b) AT T

(c) YR HEHM

(d) sfard Ao
(A) (@) (b), (c), (d)
(B) (@, (d). (b))
©  (®) @, @) ()
(D) (0), (d), (a), (b)

SPACE FOR ROUGH WORK / T% &1 o fodl g
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34. The pH of an aqueous solution of  34. qrefirm gPEEe % Seid faeEd @ pH

Potassium Cyanide is : IR
————@ H<7 @ pH<? -
(B) pH>7 ~ (B) pH>7
© pH=7 (C) pH=7
(D) pH=0 (D) pH =0

35. What is correct about Joint State Public 35. YW T A TeT ST % T | W&l

Service Commission ? 8?2

(i) It is organised on the request of () I8 T % T GHE 5N gl e
group of the states. ST R TS fohan S 2

(i) Parliament make law to constitute (i) HIH TA Sk T TR Tfed FT
Joint State Public Service % oy gug FFHA A 81
Commission.

(i) President appoints its Chairman () regHfd TUH Y AR A B
and members. ’ frgfaa & B

(iv) Legislative Assemblies of group of (iv) Ly TR H TaFEaTd 6% TS
states make law to constitute it. % T I SR 1

(v). The Governors of group of state v) T & B % T TAF AT
appoint the Chairman and members 3R we= 1 frRyfaa )

(A) (i) (i), (i) (A) (@), (i), (i)

(B) (@) (i), (v) (B) (@), @) (v)

© () @), ({v) ©) () (i), ()

(D) None of the above (D) sfaa H 9 HE

SPACE FOR ROUGH WORK / 1% &1 & fo/d svig
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36.

37.

Match the following :

(b) Bauxite (i) Balaghat
(c) Mica (i) Koraput
(d) Copper (iv) Jharia

@ ) (9 (@@

(4) (v) @) @ @

(B) () (v) (@) @)
© O G @) (iv)

(D) (v) @) @ @)

In iron metallurgy, the temperature of
reduction zone in blast furnace lies
between :

(A) 200°C to 400°C
(B) 400°C to 900°C
(C)  900°C to 1200°C

(D) 1200°C to 1600°C

36.

Sfea Hely sifed :

37.

(0 ¥9H (i) WA
(d) dfen (iv) @
@ ® © (d
(A) Gv) @) @ @
B @ ) @ @@
© O @ @ @)

(D) (v) @) @ ()

Wie &% oIgehH B, aravgl & ST & &
AR F T BT ©

(A) 200°C ¥ 400°C

(B) 400°C ¥ 900°C

(C) 900°C § 1200°C

(D) 1200°C & 1600°C

SPACE FOR ROUGH WORK / 1% & o fory s
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38.

@

(i)

(A)
(B)
(©)
(D)

39.

What is correct ?

38.

President can proclaim emergency

in the whole of country or a such
part of country.

Parliament can make law in the
state list.

The above law will be executed in
the
emergency is in operation.

concerned part where

The above law will not be executed
where the emergency is not in

operation.

The above law will be executed in
the whole of country.

(). ), i)
), @), ()
0. @), ()
All the above

Chabahar port is located in which of the

following country ?

(A)
(B)
©)

(D)

India
Iran
Afganistan

Pakistan

39.

T FNE?

@) v R mAwmcw s e amA

STITEHTST i SETST T Fehell € |
Tog, T g & fovm ) fafy fmfor

Y Fehet B

s forftr ol oI Sl SRl STk
ECOER:R

i)

e Farfis o7l o] =TT Qe STt STTIeehTet
PERER S

(iv)

(v) S fafe g <w # wmg E

(A)
(B)
©
(D)

(i), (i), (i)
@) @), (v)
(@), (i), (v)
Soge Tt

Teer deae e § Y fradn H e 72

(A) ¥Rd
By =
(C) ST

(D) UIfeR&

0821 /UE-NT/RCE-E
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40.

41.

42,

Angela Merkel became chancellor of  40.

which country for the fourth time ?

Tten W Bt SR foR S 1 wiEer o+ 2

(A) France
(B) Germany
(C) Russia

(D) Britain

Which of the following is the bestexample ~ 41.

of Rashtrakuta architecture ?

(A) Kailash Temple, Ellora

(B) Dasavatar Temple, Devgarh
(C) Elephanta Caves, Mumbai

(D) Lingaraj Temple, Bhuvaneshwar

Who of the following was the founder of ~ 42.

Asiatic Society ?

(A) Sir William Jones
(B) William Maxmuller
(C) John Digby

(D) Sir John Shore

(A) WM
(B) S
(€ %=

(D) forea

Frafafea § @ #F Ughe wWHE #
HalptE IR0 &2

(A) e iR, TERT

(B) SRIEAR WIS, oG
(C) wferther eI, el
(D) femrst HiGY, e

wREnfes dame & e fEfafas §
YA 9?

(A) W fafern sk
(B) Tafermm dewger
(©) i fersit

(D) WS ¥R

SPACE FOR ROUGH WORK / % &1 & o s
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43.

 wasconceived?2 —  ———

44,

45,

In which of the following Conference
India’s foreign policy of Non-Alignment

(A) Belgrade Conference, 1961
(B) Cairo Conference, 1964
(C) Bandung Conference, 1955

(D) Delhi Conference, 1970

Aruna Reddy is associated with which of
the following ?

(A) Cricket
(B) Badminton
(C) Gymnastic
(D) Squash

Cotton fibre is obtained from :
(A) Seeds

(B) Phloem
(C) Leaves

(D) Roots

43.

44.

45.

Frefafiag § @ frg oo B 9ra # faew
i TeFrRAsRT S GHaA g2l ?

(A) SIS HEEH, 1961
(B) HIfeq WHIeH, 1964
(C) 9Ngn TR, 1955

(D) faceh wHier, 1970

areon Y@ fore H & forerdy Heiferm 872

(A) Twehe
(B) wsfH=A
(@) ﬁrx:rrﬁrem

(D) &

Far % W e § Y wa Ea e
(A) @
CIRLE
(C) wHE

(D) wEid¥

0821/ UE-NT/RCE-E
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W U & fefafea § 4 forg deta o

46. Inwhich of the following folk-song of this ~ 46.
state the main musical instruments used e AR oI i i SR s T
are ‘Mandar’ and ‘Jhanjh’ ? Eicinsinin e
(A) Pandwani (A) dEamt
(B) Bharthari (B) Xl
(C) Dhola-Maru (C) <r-urE
(D) Panthi (D) deft
47. At which of the following place the trial 47, Tr=fafas ¥ @ g wH W oTFE i ¥
of some of the officers of Indian National F GO AU W 1945 H gwear yiY
Army was started in 1945 ? feran T ?
(A) Central Assembly, New Delhi (A) w9 faurg, 8 e
(B) Federal Court, New Delhi (B) HEE =ReE, T faeen
(C) Red Fort, Delhi (C) o forem, feeeht
(D) India Gate, New Delhi (D) sfean e, 78 feeen
48. Temperature decreased with height : 48. =T % WY aauH # firee o
(A) Stratosphere (A) wHAHS
(B) Troposphere (B) &iivHsd
(C) Ozonosphere (C) oiHed
(D) Mesosphere (D) HegHSA
SPACE FOR ROUGH WORK / T% &4 & fol e
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49, External ears are characteristics of : 49, arg v Fre A frmen ae B 8 ?
(A) Amphibia (A) TfERfsEn (3WEER)
(B) Fishes (B) Hol
(C) Reptiles Q) Y=rEd
(D) Mammals (D)
50. Which is not the feature of Indian  50. RN sreferereen @ fadiear & ®
Economy ?
(A) Low per capita income (A) g7 ufd e 3T
(B) Low growth rate of GDP (B) el SRE] SIS 'v*’fféﬁg L
(C) Extreme concentration of wealth in <) 3o Al % Bl ® 9 1 HREaH
a few hands
(D) High dependence ratio (D) = Fsian s
51. Sun is made up to: 51. gd @I ffugen®
(A) Hydrogen (A) TESSH
(B) Helium (B) 'E»':‘IW

(C) Both (A) and (B)

(D) None of these

(©) (A) 3R (B) I &
(D) T § W &

SPACE FOR ROUGH WORK / T% & & &l <&
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52.

53.

54.

Who is Shri Ram Naresh Yadav in the  52. 39 U9 H U0 W A€g ®H § ?

state ?

(A) A freedom fighter (A) Tk s ST _

(B) Chief Secretary (B) W& wfua

(C) Acting Governor (C) wrEiaR® TuE

(D) Opposition Leader (D) ¥ wfauer

In Rajyotsava of this state, Pravir Bhanja 53, 39 T o WAea W foar 9 aren veli ¥
Dev honour is given in the field of : <q g e 991 % fo e smar &2

(A) Journalism (A) TR

(B) Music (B) &la

(C) Sports (© Ba

(D) Hindi writing (D) et orEm

23'd United Nation Climate Change 54 o3t G g SeTar] aRedT Trier el

conference was organized in :
(A) Germany

(B) France

(©) Britain

(D) Brazil

SIS g ?
(A) A
(B) W
© fae
(D) st

SPACE FOR ROUGH WORK / (% & & o/l wre
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55. Match the Opposition Leader Assembly-  55.

faerasTEaR S wiqel S gataa IS

wise :
— tay—tassembly (i T.S-Singhdev — (a) AW fEEET @) orug fHeed
(b) I assembly (i) Ravindra ) e faamen @) S
Chaubey
(c) T assembly (iii) Nand (c) T fag=me (i) T<_RPAR W
Kumar Sai
(d) IV assembly (iv) Mahendra (d) =qd faurmw (i) TR HHl
Karma
@ () (g (d) @ M © @
@ O @ @ @ @) 6 @ @
® @) @ @ 0 B @) @) @ 0
© @ O @) @ © @ O @) @
D) @) @) @ 0 D) @) @) @ 0
56. Whichis mismatched regarding colouring  56. i & T oM § A gafea @ 82
of glass ?
Colour Colouring EC ) T %’g’ L
material
(A) Blue - Cobalt Oxide (A) e - IS SIS
(CoO) (CoO)
(B) Green -  Chromium Oxide (B) & - SITHIA SRS
(Cry03) (Cry05)
(C) Red - Cuprous Oxide (©) - YUY RS
(Cu0) (Cu,0)
(D) Yellow -  Cupric Oxide (D) den - U S
(CuO) (CuO)
SPACE FOR ROUGH WORK / T% & o Tt <ie
23 Set - A
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57.

Which of the following Veda is partly in ~ 57.

frefafea & @ #ie 32 o1ifte &1 @ T

prose ? 82

(A) Rigveda (A) HEg
(B) Samaveda (B) HWaR
(C) Atharvaveda (C) Frydag
(D) Yajurveda (D) @R

58. How many districts of Chhattisgarh State ~ 58. & 2011 &t SHIUFT H SHETE & fFad
have Higher Women Sex Ratio in et ® Wm%ﬁﬁm a1ty
Scheduled Castes under Census 2011 ? g7
(A) 10 (A) 10
(B) 11 (B) 11
(© 12 () 12
(D) 13 (D) 13

59. What percentage of Gross Domestic 59. o8 2018 - 19 % forw g ey fore
Product is estimated as fiscal deficit for T Herel ®E] SIS 1 STEITE i T
the year 2018 - 19 ? 87
(A) 3.2% (A) 3.2 yfqer
(B) 3.3% (B) 3.3 wfawr
(C) 3.5% (C) 3.5 wfasme
(D) 3.0% (D) 3.0 gfasa

SPACE FOR ROUGH WORK / % &1 & o srrg
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60. Where in India, the First Helitaxi Service 60.

was started ?

T ) Te Relieiek T Wik el iy

_{f-x;%mmbai-_______—(%}iz;aé__________
(B) Ahmedabad (B) STBACER
(C) Bengaluru © T
(D) Delhi (D) feeeft
61. The mirror used by dentist to concentrate 61. ﬂﬁﬁﬁwgmaﬁaﬁ%ﬁaamqﬂm%@
on tooth to be examined is : EREN TUU % :
(A) Concave (A) HAFdd
(B): Convex (B) ST«
(C) Plane (C) uHdaA

(D) Plano-Convex

62. Identify the General Seats in State  62.

Assembly :

(i) Bhatgaon

(i) Sarangarh

(i) Ambikapur

(iv) Raigarh

(v) Dongargarh
(vi) Saraipali

(vi) Kharsia

(A) (@), @), (v), (vi)
(B) (@), (i), (iv), (vii)
(C) (i), (iv), (vi), (vii)
(D) (), (i), (v), (vi)

(D) THAE-STA

g fauray ¥ gE ¥ Sl UgEH
it

@ e

() TG

(iti) ST

(iv) e

(v) ST

(vi) HOEIEA

(vii) SRR

(A) @), (i), (v), (v)
(B) (i), (i), (iv), (vii)
(©) @), (v), (vi), (vil)
(D) (i), i), (v), (vi)
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63. In which bill Rajya Sabha reconsiders ? 63. Toh9 fades W g FRER @ 82
() MoneyBill @) o i
(i) Money Bill, if the recommendation (@ o fades, afs vrmm ) sl
of Rajya Sabha is rejected by Lok 1 ellera 7 sTelter & fear 3
Sabha -
(iti) Finance Bill (i) o faderes
(iv) Government Bill (v) wEH fadaw

(&) @ i)
®) () i)
(© (i), (iv)
©) @) @)

64. In 90th Oscar award which of the

following film got best animated feature
film'award 7

(A) Coco

(B) The shape ofv water
© .Get out “

(D) Dez;r Basketball

65. What is the contribution of Agriculture

and Allied Sectors in Gross State Domestic
Product of Chhattisgarh at constant
prices in the year 2017 - 18 ?

(A) 28.11% .

(B)  17.15%

(©) 19.95%

(D) 36.85%

64.

65.

(A) @ G
®) i), (i)
© i), (v)
@) @), @)

904 SRt JER i whmYe W
fthe =1 queaR Fret A @ o firew ) firen
§?

(A) I

(B) T ¥ 3AMF AR
(€ T s

(D) feR Irpestar

& 2017 - 18 H BTG F wehel T W
FeU1E H e el W Yy ue g Q5 @5
IS A & 2

(A) 28.11 gl

(B) 17.15 dfawm

Q) 19.95 ufawm

(D) 36.85 gfqem

- SPACE FOR ROUGH WORK / 1% &1 % forl Wi
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66.

- 67.

68.

Which university of this state is declared 66.

to be named after Gahira Guru ?

(A) Bastar University_
(B) Sarguja University
(C) Durg University

(D) Bilaspur University

In 2018, Indian Science Congress was 67.

organized in which of the following

place ?

(A) Mumbai
(B) Imphal
(C) Mysore

(D) Tirupati

Who of the following visited Vijaynagar 68.

during the reign of Devaraya n?
(A) Nicolo Conti

(B) Fernando Nuniz

(C) Athanasus Nikitin

(D) Abdur Razzaq

=a T ¥ Ty forgaferener 1 W el TR
3 AT TR T S H SO

(A) o fovafaeme
(B) TS Tovafaeme™
©) g et

(D) fererragR forvaferner

0018 T Wi fogm wide fra # @ Ty
o W SrfSa fewar T 7

(A)
(B) T
(€ X
(D) fawudt

Areforfaa & @ fre dmm fdfa &
SrEeETE § FSrEeTR A At ?

(A) TRt widt
(B) Wl A
©) Tuduw FfRfE

(D) TG T

SPACE FOR ROUGH WORK / T &rd & Tl @
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69. Supposing, a government bill passed by 69. HM fifSg, g 1 T ek fadees g
the Parliament and sent to the President foram it Tzafd & U e % fore =)
for signature. President returned the bill  egufa A Fo e afed fadas Hue §
to Parliament with such objections. a4 feam g A fadaes W =R
Parliament reconsidered the bill and AN IR X T 3R Tsgafa & U
passed it again and sent to President for TR % forg 4o weufa 3 fadew w
signature. President didn’t signed on the TR & fhe ok 1e ¥ @ @ R
bill and resigned from the office. What 18 ?
will be happened ?

(A) The bill will become law Ay faggs EJSGICEAS| L]

(B) The bill can’t be executed as law (B) fadus T k& H ] e B Fwa
(C) The bill will be executed as law (C) faga® &rE &% w1 H [

(D) Vice President will sign on the bill (D) S9-Tsgufdl fordiores T weamar

70.  What percentage of working population ~ "70. fawa % 2017 % wiied & oFER 9Ra A
is engaged in Agriculture Sector in India feem Wit srfeier S it &5 3 weka
as per World Bank Report 2017 ? 8?7
(A) 48.4% (A) 484 HfaeE
(B) 46.4% (B) 46.4 dfaem
(C) 44% (C) 44 yfqera
(D) 27% (D) 27 wfasa

SPACE FOR ROUGH WORK / % &9 & a3 wmig
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71. If Lok Sabha dissolved, what will be
happened ?

T

(i)

(i)
(iv)

(A)
(B)
©)
(D)

Fhe Cabinetwiltt work-till-the new——

Cabinet formed

Cabinet will advice the President
and President will act accordingly

The Cabinet will be dissolved

The Cabinet will work as caretaker

government
(i), (i)

(iid), (iv)

(i), (iv)

@), (iv)

72.  Who has been selected as Wisden India
Almanacks cricketer of the year in 2018 ?

A)
B
©
D)

(
(

-

(
(

K.L. Rahul
Shikhar Dhawan
Virat Kohli

Rohit Sharma

73. Which of the following is the objective of
‘Mukhyamantri Ann Sahayata Yojana’
launched in this state in 2017 ?

A)

(
(B

—

(C
(D)

~—

Free rice distribution to labourers
Free lunch to labourers
Free gram distribution to labourers

Free shelter to labourers

71.

72.

73.

oz S faafea & S & @ a2

)

(i)

(i)
@)

o2 Ut K ) o W A | L S

Eocieaciklil

e TEU w1 WE & ER
Tufa qegER FE B3

AfEmued W1 8 SEn

HfsmUEe HHTS TR F w9 d
H haM

@), @)
(i), (iv)
(i), (iv)
@, (iv)

2018 3 farre <fean steae (Almanacks)
fpFey oifw T R f 8 | R o ?

(A)
(B)
©

.79, Tg
e ¥ad
faue et

(D) fea v

s‘ﬁ@qﬁazowﬁwwﬁmwﬁm‘
et T e A o SR

7
(A)
(B)
©)
(D)

syfireni o1 U =rerel e
iR} ) G e i IS
syfirent =1 T =1 faraee
gftren! 1 I S

SPACE FOR ROUGH WORK / T &t & foa s e
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74.

75.

76.

What is Jhoom ? 74. FHFME?

(A) A river valley in a dry region (A I=E YW T S e

(B) A type of cultivation (B) Y &1 T& THR

(C) A Tribal dance of Chhattisga‘rh (C) BTG 1 ST T

(D) The name of Gulf (D) T @ISt &1 AW

The Suez Canal has reduced the 75. W& & % fmin ¥ fi5rg @ wFl % o= 5}

maximum distance between :

(A) Australia and Western Europe

Mediterranean Countries and Japan

(B)
(C) Europe and Eastern Asia

(D) New Zealand and British Island

Which of the following is a modified  76.

stem ?

(A) Carrot
(B) Sweet Potato
(€©) Coconut

(D) Potato

AfFa g FA G -2
() sreferan oo uierd R
(B)  YHE WY YW T W9H
(©) 70 o el when

(D) JSicive ue fafesr g

Fefafaa & 3 =@ deifag @ (F) §2

(A) TSR
(B) THEHT
(C) =i

(D) T

SPACE FOR ROUGH WORK / T% &Td & f&or wrrg
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77. In which year agricultural growth rate is 77.

& 2013 - 14 ¥ 2017 - 18 &t e7@fy § ARG

78.

79.

negative in India during the period # fy gfg < fora T ROHE T 2
2013 - 14 to 2017 - 18 ?

(A) 2013 - 14 (A) 2013 -14

(B) 2014 -15 (B) 2014 -15

(C) 2015 -16 (C) 2015 -16

(D) 2017 - 18 (D) 2017 -18

Which of the following event was the  78.

starting point of the Civil Disobedience
Movement ?

(A) Bardoli Satyagraha
(B) Ahmedabad Workers’ Strike
(C) Champaran Movement

(D) Dandi March

Which index number is not constructed 79.

by UNDP from the followings ?
(A) Human Development Index
(B) Gender Development Index

(C) Women Empowerment Index

(D) Skill Development Index

frfafed § @ B TN SfeTa e
arfdver w1 eTRy-faig ot ?

(A) WSl TR

(B) oTEWEHEIE A TS

(C) RO S

(D) it A=

T T Fasr w0 e A 9
ST Y T S S ?

(A) e o YEwE
(B) TerTE forehr YHih
(C) TfeeT SRR GHHih
(D) e ook g

SPACE FOR ROUGH WORK / T% &4 foa s

0821/ UE-NT/RCE-E 31

Set - A




80.

Who of the following was the Chief 80.

Architect of State-owned industrializan
in the Second Five Year Plan ?

fsdla gaadfa g ¥ t=a-wfae o
sirEifiee & gEr faed freafafes § )
HH g ?

81.

82.

(A) C. Mahalnobis
(B) Rafi Ahmed Kidwai
(C) Dr. Ambedkar

(D) Baldev Singh

Bastar is called the Island of ; 81.

(A) Teak forest
(B) Sal forest
(C) Mixed forest

(D) Bamboo forest

Which of the following option is correct  82.

for Indira Gandhi Canal ?

(A) Start from the Harike Barrage in
Sultanpur

(B) One of India’s Mega Project

(C©) Punjab and Haryana also get water
from this canal

(D) All of these

(A) . weeEfeE
(B) Wl o1ewg fopead
(C) Sl T
(D) werea fog

AT !

(A) GFF

1 G FEd B

(B) @I &
(C) fhfga ==

(D) w1999

Fretferfiea o @ s faeey e Mt e
o Hay H wal §72

(A) BRF ST GEarR ¥ I8 TRY St 2

(B) 9RA ! Tk o< URASH ¥

(C) e Tef &R o +ff 39 TR | WA
T S

(D) Sus weft

SPACE FOR ROUGH WORK / T% e o forl sie
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83.:

84.

85.

A body goes from A to B distance with a
- velocity of 20 m/s and comes back B to A

distance with a velocity 30 m/s. The

average velocity of the body during the"
whole journey is :

(A) Zero
(B) 25m/s
(C) 24 m/s

(D) 30 m/s

Who of the following is the recipient of
the Chakradhar Samman of this state in
1917 ?

(A)
(B) Rajkamal Nayak
©)
®)

Jalil Rizvi

Madan Chauhan

Minhaj Asad

In 2018, Padmashri awardee of this state
Damodar Ganesh Bapat is associated
with which of the following area ?

(A) Social work
(B) Folk music
(C) Literature and Education

(D) Medicine

83.

AR

84.

85.

@ﬁgAﬁBiﬁzom/sésanﬁmm
S B A g anfre eed H 30m/s T
a7 T 2, weget aen % erafy # fie

(A) I
(B) 25m/s
(C) 24 m/s

(D) 30 m/s

1917ﬁgqtmém%mw%qmaf
frefafaa § A P T ?

(A) e R
(B) TSERA TEH
(C) & =eH
(D) foerst 318

2018 T 38 T ¥ TeHA TEER & T
< o arae Fo H § fo 4 @ weifid
g2

(A) wmRTR wE
(B) e G

(C) wnfee T foram
(D) ity

SPACE FOR ROUGH WORK / T e & fod e

0821/ UE-NT/RCE-E

33

Set - A




" 86.

Among the following reactions, which  86.

one reaction is irreversible ?

e srfufspanstt §f @ wF-w & srfufwan
AT & ¢

87.

88.

(B) AgNO,+NaCl=AgCl +HNO,
(©) PCly=PCl,+Cl,

Seasons on the Earth are caused due to : 87.

(A) Revolution of earth around the sun

(B) Rotation of earth around its own
axis

(C) Shape of the earth

(D) None of these

Which of this is unmatched in the context 88.

of Constitution Amendment procedure ?
(A) Part VI Chapter II R
(B) Part VI Chapter III
(C) Part VI Chapter IV

(D) Part VI Chapter V

() H,+L,=2HI
(B) AgNO,+NaCl=AgCl +HNO,
(C) PCl;=PCl,+Cl,

(D) N,0,=2NO,

Ye&t WA qfed & SRR
(A) gt 1 G Bt TReRAT HET

(B) gl 1 37U 3181 R URYHY AT

(C) Y=l &I STHR

(D) &9 ¥ g T

Gfaum et gk & weed | o gifem
TR B ?

(A) T VI &1 11
(B) NI VI s7eam 11
(C) VI 3181 [V

(D) ¥ VI 3123 V

SPACE FOR ROUGH WORK / T& &1 % fod wig
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89. Which dance of this state is registered in 89, ¥H A = ¥l I Tieed % HE 908

Golden book of world record ? AL H T 8?
—(A)ySua—— (A) 3T B

(B) Panthi (B) vyl

(C) Saila (C) e

(D) Karma (D) wH

90. To which of the following the Whitley ~ 90. frefafaa & @ frad 1920-31 1 fegeet

Commission of 1929-31 was associated ? S WY o1 ?

(A) Education (A) faen

(B) Labour (B) A

(C) Health (C) ToreA

(D) Industry (D) <&

91. Match the following : 91, Sfua Gely oEA :

Companies Products U ERI

(@ BHEL (i) Iron and Steel (a) BHEL @) e Td T

(b) HAL () Chemicals (b) HAL () TEEH

() SAIL (i) Electrical () SAIL (i) o=@

(d) HOCL (iv) Aeronautics (@ HOCL (v) Sl
@ (® (© (@ @ ® © @

(A @) @ @O @) (A) @) @ @0 ) |

B) @) @ @) @ B) @v) @) @) (@)

© @ (@v) @ @ © @ Gv) @) (@)

(D) @) @v) @ @ (D) @) Gv) @ @)

SPACE FOR ROUGH WORK / T® &4 & o sE
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92. In which Khel Ratna award of this state ~ 92. 39 U9 & 9 B & JehR | waifus

maximum cash prize is given ? BUCRUNICIS I

(A) Sahid Rajeev Pandey award (A) YRR TSF T8 TEEHR -
(B) Sahid Kaushal Yadav award (B) VEIE wIvE ART TEEHR

(C) Veer Hanuman Singh award (C) oK TaM f¥g TE=hR

(D) Sahid Pankaj Vikram award (D) WiEE Yohsl foshm R

93. Which of the following does not fall 93. uf¥=rft e % aTala T oT €
under Western Ghat ?

(A) Bhorghat (A) siRER
(B) ‘Ten’ Biodiversity hot spot’s (B) ‘TW' Safafaydr & aw &
(C) Mangaluru (C) Hrw

(D) Kodaikanal Hill Station (D) HISE A YIS &

94. Which of the following official was nota  94. &t & ‘ erewym’ # fr=fafed § §

part of Shivaji's ‘Ashtapradhan’ ? st wffera =& e ?
(A) Sar-i-Naubat (A) TW-T-Aea

(B) Wagqgaya Nawis (B) Rl g

(C) Barid (C) =g

(D) Suranawis (D) GEEE

SPACE FOR ROUGH WORK / TF & & for smig
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95.

96.

97.

—({A) Home ministry -

‘Which of the following ministry launched ~ 95.

the ‘Lagshya’ programme ?

f= O 9 form Hoer g0 ' oied’ iy &Y
YT hi TE ?

(B)

Defence ministry
(C) Health ministry

(D) Foreign ministry

Who of the following person of this state  96.

is the recipient of Padmashri Award for
2016 for outstanding contribution in
folk-music ?

(A) Jhadu Ram Dewangan
(B) Fidabai Markam
(C) Prem Chandrakar

(D) Mamta Chandrakar

Which organisation is not in existence in

India at present ?
(A) Planning Commission
(B) NITI AYOG
(C) Goods and Service Council

(D) Prime Minister Advisory Council

97.

(A)— e S —
(B) &1 HARHE
(C) &Ry HIRE

(D) facw Haer™

W 1 & frafafes § @ faa afm =
Arer-diiid ¥ foiy AeeF & fow 2016 #
JgAd R fem T 82

(A) BT AT
(B) TraemE e
(C) 9 =EE

(D) TAT T

FaAE | 9d H HiF T gred e o T8
%7

(A) TS ST

(B) ifa s

(C) a% @ g uieg

(D) WA HeesR aivg

0821/ UE-NT/RCE-E
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98. Whoamongst the following isin first place ~ 98. 2018 T S0 e W g TR WE W
of list released by Forbes in 2018 ? fradasme?
(A) Bill Gates (A) T e
(B) Warren Buffett (B) A THe
(C) Jeff Bezos (C) & i
(D) Bernard Arnault (D) sHIeE
99, Forced Labour is prohibited in which ~ 99. Higum & forg sT7eq H SiyeT (JeTq) Aol
article of the Constitution ? 3 fafug ferm T 8?2
(A) 15 (A) 15
(B) 17 (B) 17
© 21 (€ 21
(D) 23 (D) 23
100. What economic growth rate is estimated  100. ¥ 2017 - 18 % AT feer gl W BTG

- in Industrial Sector of Chhattisgarh State

in constant prices for the year 2017 - 18 ?
(A) 6.04%
(B) 3.78%

(C) 5.84%

(D) 6.56%

¥ ofeifis &9 & fem onfif® gfe =
eI i T R 2

(A) 6.04 e
(B) 3.78 wfawm
(C) 5.84 Hfaem

(D) 6.56 gfae
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Part-II /90T - 11

104. ‘Td’ TI F WA W I T UK B FM

HEd 8 ?
g fet Jr
(A) #g :
101. ‘et faumedt s G, ® =
SeR-TEE B gell W qRI-HE SW-d |
(C) 3ot
fFe TR 1 ISR § 2
(A) FUH (D) Fea
(B) Suml
(©) ‘
105. &< e H urg o o1 §
(D) SR =
(A) BT H FAH 9T
02, I wfwi € (B) g w1 =qel am

(A) &, @ T, |
B IILE T
€ 9 %99

D) L7 E

03. ‘7R’ fone Wiy 1 ST R ?
(A) e Gfy
(B) =S HfY
(©) < dfy
(D) fawrt =@y

(C) B2 fgdftm vm

(D) SudE st

106. €181 B¢ % foom =l § fhaet amnd €t € 2

(A) TIRE
(B) IRE
(C) @

(D) e

"SPACE FOR ROUGH WORK / T @13 & o s
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107. ‘% T 919 % oTqed Ul kI Aig-sgd  110. T v FoRd hed §7?
SHHT 3ravd A’ 3 g | ffed

fmoarenemie: | C(A) T sl % e wefe T B |
(A) =Y T () SR F I IR
(B) TR, 7@ ©) T st wd weor S B ¥
(C) T, dgl-sgd (D) SR H A g T

(D) &, HEAM

111, o=t =1 GO ST SR T

108. HHURE ¥AWE & forad 9 €2 (A) F=RO
(A) @ ®) fo&
(B) () =
© =R (D) S9F= wft
(D)

112. ‘F TS @ ST Helfd SSHA’ TR

109. “IR’ fope e ot SR 2 7 s e F 9 e 87
(a) fe (8) e
(B) wepd : ®B) =
© st (©) st
(D) SRe-hrat (D) @ o
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113. 3t &t gfe ¥ vsal & fore 9T €2

116. ‘iR’ wisg 1 wd d@iy fm Fn 2

(4) T (A) W+FT
B) T (B) UR+BT
© (©) T+T=%
(D) =R (D) uR:+8T

114. ‘7o' wisg 7 el @ ¥ 2

115, "HYT 90 A aren’ & o T weg g

(A) 3Tt
(B) sl
(C) wEgraTt

(D) foarumdt

. it % fir e < el | 0 S Feed

=y 37y

(A) e IR ISR

(B) T {7 TR SATE BT
(C) T %M ¥ T HM Bl ST

(D) &Y @

. e’ foRe T T e 2

(A) STl
(B) TR
(C) SAUsh

(D) Yol
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119.

120.

121.

122.

‘e’ R U T SRR E 2 123. G Y THR 1 K § 7

A

(%) T (A) afasmrd

~(B) o — —
©) FHuE () feerdt

(D) o=t & © i

SR TR e O R TR (D) ST A I T

w1 a1ef §2

(A) SR TR @
(B) TR W &re
(C) SRS

(D) Swa |oft

R HfY % T TR B 2
(A) T
B @
© d

(D) ®:

frefafaa ® @ Si9-w wss ‘W' #
e R B ?

(a) oo

(B) o1y

(C) wg

(D) Hq=

124. €Ra1 S A g &7 ool § Bl 82

125.

(A) W T T
(B) e wd fgdty
(C) %aa qo
(D) T T

“a T 3 Tt o o wen faa T § 2
(A) <§

(B) WRE

(C) s

(D)

Set -
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GENERAL ENGLISH 129. Find the incorrect sentence :

KNOWLEDGE (A) He acts like the Homecoming King.

(B) I wish I was popular like them.

T 126, Cc lete the 1oll =
S s (C) He acts like he is already the

Every cloud . Homecoming King.

(A) Dbrings rain (D) Iwant to be famous like Brad Pitt.

(B) moves mountain

(€)  has asilver lining 130. Choose the word which is nearest in
(D) isabliss meaning to the underlined part in the
following sentence :

127. () He will buy a car. If Jim is not paid the money he is owed,
he will go to court to seek redress.

(i) He gets a loan.

. ‘ (A) Redone
Which of the following correctly joins the
above sentences ? (B) Compensation
(A) He will buy a car so that he gets a (C) Rearrangement
oan. (D) Punishment

(B) He willbuy a car lest he gets a loan.

(C) He will buy a car provided he gets 131. Choose one word substitute for the

Alean following expression from the alternatives
(D) He will buy a car unless he gets a provided.
loan.

‘Unidentified person’ or ‘a party in a legal
action whose identity is being withheld

128. The plural form of “Criterion’ is : offically.
(A) Criterias (A) John Doe
(B) Criteria (B) Eminent
(C) Criterium (C) Dowdy
(D) Criterese (D) Ardent

SPACE FOR ROUGH WORK / T& & & forf w18
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132.

133.

134.

Choose the correct passive form of the 135. Insert a suitable preposition from the
following : alternatives provided to complete the
Irfan will pass the message. following sentence :
(A) The message will pass by Irfan. The teacher should not be partial
any student.
{(B) Themessage will be passed by Irfan.
(C) The message would be passed by (A) against
Irfan. ' (B) over
(D) The message shall be pass by Irfan. @ to
(D) for
Identify the most appropriate choice that
best transforms the following sentence
interdiectipeech: 136. Choose the correctly spelt word from the

He said that we are all born to die.

(A) He said, “We have all been born to
die”.

(B) He exclaimed, “We were all born to
die”.

(C) He said, “We had been born so that
we die”.

(D) He said, “We are all born to die”.

Which of the following is not a
preposition ?

(A) during
(B) from
(C) your

(D) without

following :

(A) Grotesk
(B) Grotasque
(C) Grotesche

(D) Grotesque

137. Which of the following sentences uses

‘only’ as an adjective ?
(A) John is our only child.
(B) My little brother only eats pickles.

(C) Iwould have finished, only I broke
my leg.

(D) He only lent the car.

SPACE FOR ROUGH WORK / % &M & fod S8
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138.

139.

140.

“be at your wit’s end” means : - 141.

(A) to be so worried by a problem that
you do not know what to do next.

(B) have clear concepts.

(C) enlightened.

(D) to be aware of a problem and its
solution.

Out of the four alternatives given, choose

the one which can be substituted for :

an expert judge in matters of taste

(A) Connoisseur htes

(B) Gregarious

(C) Exuberant

(D) Jovial

The wife of ‘earl’ is known as :

(A) lady

(B) earless
(C) duchess
(D) countess

Complete the following sentence using an
appropriate active or passive form from
the given alternatives.

'l_"he gate by the peon.
(A) opens

(B) was opened

(C) has opened

(D) was open

Mona was writing a letter to her father.

Identify the most appropriate choice that
transforms the above sentence into its
passive form.

(A) A letter was being written by Mona
to her father.

(B) A letter was written by Mona to her

father.

(C) A letter was written to her father
by Mona.

(D) A Ietter has been written to her

father.

SPACE FOR ROUGH WORK / % & @ & w18
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143.

—(By—Reflexive-pronoun

“Myself isa:,

(A) Possessive pronoun

146.

Select the word which is closest to the
opposite in meaning to the underlined
word in the following sentence :

(C) Relative pronoun

(D) Indefinite pronoun

144. Find the correct idiom to complete the

145.

following sentence :

The post in a factory is not
(A) below the belt

(B) abed of roses

(C) ahumble post at a pinch

(D) beating about the bush

Choose the most appropriate word
from the options to complete the following
sentence :

We all waved good bye to Liz
she drove away in her car.

(A) though
(B) as

(C) although

(D) for

147.

The play was greeted with tepid

applause.
(A) Dull
(B) Cool
(&) Warm

(D) Enthusiastic

Choose the mis-spelt word from the

following :

(A) Requited

(B) Detour

(C) Endarement

(D) Genesis
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148. Identify the most appropriate choice that  150. Choose the correct alt_erhétive for the
transforms the following sentence into following expression : '

indirect speech. ;
There are many large shops in

~ She said o him, “Why don’t you go =~ ﬂqufd Street.

today ?” ,
(A) the
(A) She asked him why he did not go (B) an
that day.
© a

(B) She said to him why he doesn’t go

that day. (D) no article is needed -

(C) She asked him why he did not go
today.

(D) She asked him not to go that day. -00o0-

149. Choose the word/group of words which
is most similar in meaning to the words
given in capital letters :

INTRINSICALLY

(A) Internally

(B) Whole-heartedly
(C) Fundamentally

(D) Virtually
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Note :
1.  This Question Booklet consists of Parts namely :
Part-1  General Mathematics - 130
General Knowledge - 31-100
Part -II  General Hindi & - 101-125
General English Knowledge - 126-150

BEach question carries 1 mark. All 150 questions are compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.
3. 1/4 mark will be deducted for each wrong Answer.
4. Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn - -poiled due to folds and wrinkles.
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